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THEL | A6 FEAEE « RPTIE R YT XA T

TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE BEHERT 2 1 7,623, 030
EHET = 1 409, 540
AL T =Y 1 409, 540
Ak T Y 1 256, 670
TAT 7 MRS T = 1 256,670 | T & A (i - BEE ) 100 m2
RC-40 t=150mm ;
)8 (§E - BEE) 100 m2
HABRIEEAs (20) t=50mm ;
HEKHEY) T Y 1 1, 108, 405
(== Y 1 122, 005
R T =Y 1 986, 400 |7° VF¢ANUTHINR 100 m
PU1-B300-H300
[CZEHN Y 1 355, 000
oL = 1 355,000 |AxELEETIST 0yl 50 m
BB-1-3(200)
BT T = 1 526, 460
5 (-4l T Y 1 526, 460 | FLHE7 0y, SRS LR 20 H
A - SAE (ST RS EH) 40 m
TE AT R itk T Y 1 64, 940
B EY T Y 1 64,940 |153Ea/)-}h 20 m
WiERE T = 1 1, 168, 953
(== Y 1 46, 953
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TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
T FTHERE T (&4 BT =X 1 1,122,000 | /=HEkE 17 m3
GW36
FRELT 2 1 695, 000
B HEBREL T v 1 695,000 | EFEERE (HH) 5, 000 m2
X R T = 1 17,195
ECTE X 1 17,195 | 7R A=K i 50 m
M FE# W=15cm t=1. 5mm ;
s ALER T = 1 145, 180
AR VESE T X 1 145,180 | 97%5% 1 =
HEhlit 2 1 X
Mk 1 X
HEYE T = 1 2,646, 337
HEYHE L T = 1 1,760, 764 |av))-MEiEWEUE L 170 m3
RS ED |
EhAE AR AR 60 m2
TAT7VMERSERR t=15emPLF
TR AL T = 1 885,573 | FRiE 170 m3
av ) -bik (BERR)
IR 3 m3
TAT T hiER
By 170 m3
av ) -bik (BER5)
By 3 m3
TAT 7V
% T = 1 229, 350
AR IEE BT 2 1 229, 350
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[P % X 7,623, 030
Hm IR E 2V 1, 828, 000
e Tre: 2V 253, 000
BUGBREIUEL (REH L) 2V 253, 000
sty (R L) 2V 1,575, 000
ol T X 9, 451, 030
e R 2V 5, 385, 000
T AT X 14, 836, 030
— e PR 2V 3, 063, 970
Tk X 17, 900, 000
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